H & 0l & At H A M

A ABHEEARIA
M HYRAAH| (&St AIYEA)
&2 JI=23H| (el &)
SA - B SRA(B) - HRAY - BES il &y pE-L HimEE]
Aot A A 23,764,827 22,072,871 1,691,956
Xl 8,200,000 8,200,000 0
= 270,465 270,465 0
= 15,294,362 13,602,406 1,691,956
HA2HTHI (MBI A A) 17,988 19,060 1,072
Jl=&l 17,988 19,060 A1,072
Jl=&H| 17,988 19,060 A1,072
201 LBH2AL| 11,508 12,580 A1,072
01 At2teld| 10,008 11,080 1,072
O get=&H| 7,128 8,200 A1,072
0 AFRIPD & SAES 4,928,000& 4,928 6,000 1,072
FHINHAUN2ESSAIY 409,535 424,752 A15,217
= 26,000 26,000 0
= 383,535 398,752 A15,217
H2E SSAEY =& 409,535 424,752 A15,217
= 26,000 26,000 0
= 383,535 398,752 A15,217
OE&=E 7Xl2el 322,535 337,752 A15,217
201 LBH2AL| 192,107 206,282 A14,175
01 A:2teld| 192,107 206,282 A14,175
O el 189,307 203,482 A14,175
0 OS4sk B ESA=TE 30,855 34,367 A3,512
o H==(H23) 30,700 *45JH A 1,382 1,535 A153
o H===(2413]) 217,000& #4500 2~ 9,765 10,850 1,085
o Xlot==(2413]) 75,8003 %2607 2~ 19,708 21,982 A2,274
0 OISdsk B 22 156,744 167,407 10,663
0 F=(2JIEAH 56,5203 *32]*3000H A 50,868 54,260 A3,392
o F=(TE=R) 319, 2203 *12*3000H 2 95,766 102, 151 6,385
o Z=(HIAZAL 7,700&*30004 2+33 6,930 7,392 AB2
o H=x(RetsdA 10,6002 «300H A 3,180 3,604 N424
206 =4l 71,428 76,470 Nb,042
01 =8l 71,428 76,470 Nb,042
O =ZZAIZ =87 3,010 3,400 A390
04 ¢ 1,500 *700H 1,050 1,200 A150
02 ¢ 1,000 *700H 700 800 A100
01¢ 7002 +1,800H 1,260 1,400 A140
O iS4k A58 2y
55,0002 %300I 2+43] 66,000 70,400 4,400
O A=E+Y 2,268 2,520 N252
0 222ZI1(22A) 3,600 &*630kg 2,268 2,520 N252
405 XHAHESH| 4,000 0 4,000
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Sk ABHEAIA
Hu: SEINHUNCSTIAIY
Sl oes BIAY Fa (SH9l: &)
A - B S9(3) - HRAY - BES il &y pE=E HimE=]
07 AITEZF S| 4,000 0 4,000
O M=&3I| 2 4,000,002 4,000 0 4,000
ALTAL 18, 150,560 16,676,080 1,474,500
X 8,200,000 8,200,000 0
= 200,000 200,000 0
z 9,750,580 8,276,080 1,474,500
ENET 3,680,000 2,565,000 1,115,000
X 500,000 500,000 0
z 3,180,000 2,065,000 1,115,000
OIS &TALY 2,965,000 1,850,000 1,115,000
ETEESTT 2,965,000 1,850,000 1,115,000
L] 2,960,000 1,845,000 1,115,000
O OE0IS ASAIA FHIA
240,000, 0002 240,000 240,000
O DISA4E AISS FUIA 140,000,002 140,000 140,000
O MZEDIS M2TAE FHIAY
30,000,002 30,000 30,000
O 250k 23 SXBAL 25,000,008 25,000 25,000
O SNAP HLTAILES FlAY
50,000,002 50,000 0 50,000
O &% U DI2A4E =52 DHBA
200,000,002 200,000 0 200,000
O SB(YB) DISAHE AILE THIAY
200,000,002 200,000 0 200,000
O 2| SHOIS ABBFINY U SLB20)
EEN 50,000,002 50,000 0 50,000
O H20I2 M4 AVDTNY U LB2AE
b e 40,000,002 40,000 0 40,000
O 2Y0le =SBZDHBA 30,000,002 30,000 0 30,000
O RADS LBIBFINY U SLVZ LT
Ab 70,000,002 70,000 0 70,000
O SJ2) AE0IS 445 AIEE THIAY
40,000,002 40,000 0 40,000
ABEE Z2lArY 1,580 12,080 A500
AR SOOI ALY 4,500 5,000 A500
WET 4,500 5,000 A500
ETE] 4,500 5,000 A500
O ASYSAXIH(RASEIH(2I1S)
4,500,002 4,500 5,000 A500
NEENINEE 14,459,000 14,099,000 360,000
X 7,700,000 7,700,000 0
= 200,000 200,000 0
2 6,559,000 6. 199,000 360,000
Ngass | 2,850,000 2,490,000 360,000
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SN ABHETAIRA
Hu: ASEA}

AT A
Sl IZaSTAYS (E42): )

SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
401 AlEHILSOHY] 2,850,000 2,490,000 360,000
01 Al&HI 2,845,000 2,485,000 360,000
O WA= XgalE SHEARY
360,000,000 360,000 0 360,000
B (AMotZAE L) 2,933,674 2,699,929 233,745
HEHCHKIE 2,929,929 2,699,929 230,000
AT AMAEE 952,129 722,129 230,000
701 JIEtel HESHES 952,129 722,129 230,000
01 JIEtalHNES 952,129 722,129 230,000
O &= AIHEEH &= 952,129,000 952,129 722,129 230,000
SHEXE 3,745 0 3,745
2X3 greag 3,745 0 3,745
802 Btet=J|Et 3,745 0 3,745
02 Al - SHIEXZBEZE 3,745 0 3,745
O s0HELSA=E AE2CIAE ZHIEXS
ghat 3,744,420& 3,745 0 3,745
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H & 0l & At H A M

2A: ot ANEA
2 Sttt
G2l SN (SEIMEESTIA) (&9 ®J)
2A - - HA(ZH) - NIRAY - BES Ofl &kl 1N Hws2
&5t EANE A 9,407,700 8,154,026 1,253,674
= 3,574,300 3,574,300 0
Il 2,255,960 1,877,360 378,600
= 517,540 517,540 0
= 3,059,900 2,184,826 875,074
Ot=2tel 8,385,600 8,097,000 288,600
= 3,574,300 3,574,300 0
Il 2,255,960 1,877,360 378,600
= 517,540 517,540 0
= 2,037,800 2,127,800 90,000
St RIZAIE (FENESERIH) 8,385,600 8,097,000 288,600
= 3,574,300 3,574,300 0
Il 2,255,960 1,877,360 378,600
= 517,540 517,540 0
= 2,037,800 2,127,800 /90,000
Slexeld E(Md B4) 1,076,600 698, 000 378,600
= 349,000 349,000 0
Il 588,000 209,400 378,600
= 69,800 69,800 0
= 69,800 69,800 0
401 AlZHIZLS0YI 1,076,600 698, 000 378,600
= 349,000 349,000 0
Il 588,000 209,400 378,600
= 69,800 69,800 0
= 69,800 69,800 0
01 Al 772,202 393,602 378,600
O MESSotrHelAIESEA
772,202,000 772,202 393,602 378,600
= 194,602 194,602 0
Il 498,000 119,400 378,600
= 39,800 39,800 0
= 39,800 39,800 0
Stk=HMelAlE(B36eE 22 L 2I857) 380,000 470,000 90,000
401 AlZHIZSOYI 330,000 420,000 /90,000
01 Al 330,000 420,000 /90,000
O &EZ St==dXl RAEXCI]
250,000,000 250,000 340,000 /90,000
MR ES (Aot AIEA) 1,022,100 57,026 965,074
SEXNE(EMLELSIH) 1,022,100 57,026 965,074
2x3 grea 60,777 57,026 3,751
802 Btet=JIE 60,777 57,026 3,751
01 =n2x3tte=s 60,777 57,026 3,751
O &tEole=2t2 SN2z Bt 3,461,900 3,462 0 3,462
O SZIIZ=AE EXIARI(AE HE=) JISE
23 0lkt= Btet 288,600 289 0 289




SN MBS ARIA
M WRES(AGITAIRL)

ool BEXS(SEHLSEEIH) () Hg)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH Hws2

OB 91,323 0 91,323

801 0l %1,323 0 91,323

01 LBICHH] %1,323 0 91,323

O +ENASHEH ofibly] 91,323, 0002 %1,323 0 91,323
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